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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
1) 1.6x0.61=
A.0.976 B. 97.600 C.9.760 .0.010 L
2,
2) 3.8x0417=
A. 15.8460 B. 0.0158 C. 1.5846 .0.1585 3
3) 9.8x7.194= 4.
A.70.5012 B. 7,050.1200 C. 7.0501 .0.7050
5.
4) 917x0.7=
A.6.419 B. 641.900 C. 64.190 .0.064 &
7.
5) 4.8x9.293=
A. 446.0640 B. 44.6064 C. 4,460.6400 .0.4461 8
6) 2.419x39= 9.
A.9.4341 B. 943.4100 C. 94.3410 .0.9434
10.
7) 7.62x3.957=
A. 3.01523 B. 3,015.23400 C. 301.52340 . 30.15234 1L
12.
8) 1.56x 1.425=
A. 222.30000 B. 0.02223 C. 22.23000 . 2.22300
9) 3.7x0422=
A. 15614 B. 0.0156 C. 156.1400 .0.1561
10) 0.733x221=
A. 161.99300 B. 0.16199 C. 0.01620 . 1.61993
11) 35x953=
A. 3.336 B. 3,335.500 C.0334 . 33.355
12) 04x6.94=
A. 27.760 B. 0.028 C.2.776 .0.278
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Estimating Multiplication w/Decimals Name: Answer Key
Use the decimal placement to estimate the product. Answers
1) 1.6x0.61=
A.0.976 B. 97.600 C. 9.760 .0.010 .
2. C
2) 3.8x0417=
A. 15.8460 B. 0.0158 C. 1.5846 . 0.1585 3 A
3) 9.8x7.194= 4. A
A.70.5012 B. 7,050.1200 C. 7.0501 . 0.7050
5. B
4) 917x0.7= A
A. 6.419 B. 641.900 C.64.190 .0.064 6.
7 D
5) 4.8x9.293=
A. 446.0640 B. 44.6064 C. 4,460.6400 . 0.4461 8 D
6) 2.419x3.9= 9. A
A.9.4341 B. 943.4100 C. 94.3410 .0.9434
0. D
7) 7.62x3.957 = D
A. 3.01523 B. 3,015.23400 C. 301.52340 . 30.15234 L.
1 C
8) 1.56x 1.425=
A. 222.30000 B. 0.02223 C. 22.23000 . 2.22300
9) 3.7x0422=
A. 15614 B. 0.0156 C. 156.1400 .0.1561
10) 0.733x2.21=
A. 161.99300 B. 0.16199 C. 0.01620 . 1.61993
11) 35x953=
A.3.336 B. 3,335.500 C.0.334 . 33.355
12) 0.4x6.94=
A. 27.760 B. 0.028 C.2.776 .0.278
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